SAP ABAP table FKKL1 {Account Balance: Work Fields}

FKKL1-GPART = BUT000-PARTNER

FKKL1-CCCUR = TCURC-WAERS

_______________ 0.

______ FKKL1-LSTYP = TFK021L-LSTYP
FKKL1-SRVAR = TFK021SV-SRVAR 0.
FKKL1-VAROP = TFK021Z-VARNR S

'\ _FKKLI-BALA ROLE = TFK021 ROLES-BALA ROLE 0.

~N |MANDT [CLNT (3)]

..N | MANDT [CLNT (3)]

BUTO000O

- T T 0..N | CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

FKKVK

VKONT [CHAR (12)]

TOO1

MANDT [CLNT (3)]
BUKRS [CHAR (4)]

TCURC

MANDT [CLNT (3)]
WAERS [CUKY (5)]

N

TFKO21L

LSTYP [CHAR (10)]

TFK021SV
MANDT [CLNT (3)]
IDENT [CHAR (10)]
SRVAR [CHAR (3)]

TFK021Z
MANDT [CLNT (3)]
LSTCL [CHAR (3)]
VARNR [CHAR (3)]

N

TFK021 ROLES

MANDT [CLNT (3)]

APPLK [CHAR (1)]

BALA_ROLE [CHAR (4)]




